
� � � �
� � �

�����������

December 28, 2004

�����������������

1



� �

1 ���� 1

1.1 ������ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 1

1.2 �������� . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 3

2



1 ����

1.1 ������

������ π = 3.141592653 · · · ����� e = 2.718281828 ���������
����������������� γ �	�������

γ = lim
n→∞

(
1
1

+
1
2

+
1
3

+ · · · + 1
n
− ln n

)
.= 0.577215 · · · .

������
1
1

+
1
2

+
1
3

+ · · · + 1
n

���
�������������� bn/an����������� an ���

�������
����������������������������	

�Ǳ��������� bn/an ������������	
���������


�	��
�������������������������������

������������ a
b , c

d
����������� a

b − c
d
��������

������� 3 �	�������� 3 �	�����
������

a

b
≡ c

d
(mod 3).


�
1
4
≡ −1

5
(mod 3),

��	�
1
4

+
1
5

=
9
20

.

�
363
140

≡ 0 (mod 3),
761
280

≡ −1 (mod 3),

��	�
363
140

− 0 =
3 · 121
140

,
761
280

+ 1 =
1041
280

=
3 · 347
280

.

��������

1
1

+
1
2

≡ 0 (mod 3),

1
1

+
1
2

+
1
3

+
1
4

+
1
5

+
1
6

+
1
7

≡ 0 (mod 3),

1
1

+
1
2

+
1
3

+
1
4

+
1
5

+
1
6

+
1
7

+
1
8

≡ −1 (mod 3).

���������������� b2/a2, b7/a7 ��� a2, a7 �� 3 �	����

b2, b7 �� 3 �	��� a8, b8 
�� 3 �	��

�� 1.1 � n ������

1
1

+
1
2

+
1
3

+ · · · + 1
n

=
bn

an
,

�� an, bn ������������� n ���� 3 | bn�
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��	�	
��
���������� n = 2, 7 � n = 8 �����

1
1

+
1
2

=
3
2
,

1
1

+
1
2

+
1
3

+
1
4

+
1
5

+
1
6

+
1
7

=
363
140

,

1
1

+
1
2

+
1
3

+
1
4

+
1
5

+
1
6

+
1
7

+
1
8

=
761
280

.

����������� n = 3q + j > 8 (0 ≤ j < 3; q ≥ 3)�	�

1
1

+
1
2
≡ 1

4
+

1
5
≡ 1

7
+

1
8
≡ · · · ≡ 0 (mod 3)

��

1
1

+
1
2

+ · · · + 1
n
≡ 1

3
(
1
1

+
1
2

+ · · · + 1
q
) +

1
3q + 1

+ · · · + 1
3q + j

(mod 3).

	�
1
1

+
1
2

+ · · · + 1
q

����� 3 �	�������� q = 7 �

1
1

+
1
2

+ · · · + 1
n

≡ 1
3

(
363
140

)
+

1
21 + 1

+ · · · + 1
3q + j

(mod 3)

≡ −1 +
1

21 + 1
+ · · · + 1

3q + j
(mod 3).

	��
�� j = 1�� n = 22 �	��
	 n = 23 ����
������������������ n = 3q + j > 23 (0 ≤ j < 3; q ≥ 8)�	

�

1
1

+
1
2

+ · · · + 1
n
≡ 1

3

(
1
1

+
1
2

+ · · · + 1
q

)
+

1
3q + 1

+ · · · + 1
3q + j

(mod 3),

����� q = 22��

1
1

+
1
2

+ · · · + 1
n

≡ 1
3

(
1
1

+
1
2

+ · · · + 1
22

)
+

1
66 + 1

+ · · · + 1
66 + j

(mod 3)

≡ 1
3

(
1
1

+
1
17

+
1
2

+
1
16

+
1
4

+
1
14

+
1
5

+
1
13

+
1
7

+
1
11

+
1
8

+
1
10

)

+
1
3

(
1
19

+
1
20

+
1
22

)
+

1
3

(
1
3

+
1
6

+
1
9

+
1
12

+
1
15

+
1
18

+
1
21

)

+
1

66 + 1
+ · · · + 1

66 + j
(mod 3)

≡ 1
9

(
1
1

+
1
2

+
1
3

+
1
4

+
1
5

+
1
6

+
1
7

)

+
1
3

(
1
19

+
1
20

+
1
22

)
+

1
66 + 1

+ · · · + 1
66 + j

(mod 3).
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�
1
1

+
1
2

+ · · · + 1
n
≡ 1

66 + 1
+ · · · + 1

66 + j
(mod 3).

	

j = 0 ⇒ 1
1

+
1
2

+ · · · + 1
66

≡ 1 (mod 3)

j = 1 ⇒ 1
1

+
1
2

+ · · · + 1
67

≡ 2 (mod 3)

j = 2 ⇒ 1
1

+
1
2

+ · · · + 1
68

≡ 1 (mod 3)


 j ������� n = 2, 7, 22 ���������� �

1.2 ��������

��	���������������� FS(n)�� S �		��������

�	��
� FS(n) ���� ≤ n ���	��
� S ����������	�

S �����������	������ x ��
� x = sm2 ≤ n��� s ���

�	�������

FS(n) ≤ 2|S|
√

n.

�� 1.1 �	 ∑
p���

1
p

���

��	��� ∑
p���

1
p

�������������� n0 ��

∑
p���, p>n0

1
p

<
1
2
.

��� n0 ≤ n � S  
�� ≤ n0 �������	������� m(1 ≤ m ≤ n)
� m ���� S ��	������ m ����

n − FS(n) ≤
∑

�� p>n0

[
n

p

]
≤

∑
�� p>n0

n

p
<

n

2
��

	��� n
2 ≤ FS(n) ≤ 2|S|

√
n ≤ 2n0−1√n��

√
n ≤ 2n0�	� n0 ������ n �

��		!�"
�	� ∑
p ���

1
p

��� �
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�� 1.1 � n ������

1
1

+
1
2

+
1
3

+ · · · + 1
n

=
bn

an
,

�� an, bn ����������� n ���� 5 | bn�

�� 1.2 � n ����� n > 1���	

1
1

+
1
2

+
1
3

+ · · · + 1
n

������

�� 1.3 � n ����� n > 1���	

1
1

+
1
3

+
1
5

+ · · · + 1
2n − 1

������

�
���

���O-ABC ���#������ BC = a,OA = a′;AC = b,OB = b′;AB =

c,OC = c′���	�
a + a′, b + b′, c + c′

��������������

A C

B

O

���

� n �������	 (
n

0

)
+

(
n

3

)
+

(
n

6

)
+

(
n

9

)
+ · · ·

�� 3 �	��

����
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� n ������
1
1

+
1
2

+
1
3

+ · · · + 1
n

=
bn

an
,

�� an, bn ������������������ n ��

11 | bn.

�	
��$����������� n ����
��

%��������

� p ������
��	�

p−1
2∑

k=1

(−1)k−1

k
≡

p−1∑
k=1

1
k · 2k

(mod p).

��	�	�
[ 3p

4 ]∑
k=1

(−1)k−1

k
≡

p−1
2∑

k=1

1
k · 2k

(mod p).
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